



City of Aurora, IL  
**Engineering**

Kenneth Schroth, Director of Public Works/City Engineer  
44 E Downer Place, Aurora, IL 60502

---

**EVALUATION TABULATION**

GEN No. 25-154

Fox Valley Center Drive Water Main Replacement

RESPONSE DEADLINE: April 30, 2025 at 11:00 am

Report Generated: Monday, May 5, 2025

**SELECTED VENDOR TOTALS**

Vendor	Total
Fox Excavating Inc	\$209,835.00
Superior Excavating Co.	\$215,556.00
Winninger Excavating, Inc.	\$234,900.00
Performance Construction & Engineering, LLC	\$244,887.00
Scanlon Excavating & Concrete Inc	\$249,000.00
Martam Construction	\$273,989.00
H. Linden Sons Sewer and Water, Inc.	\$303,062.00

**TABLE 1** (Table 1 of 2)

EVALUATION TABULATION

GEN No. 25-154

Fox Valley Center Drive Water Main Replacement

Table 1					Fox Excavating Inc		H. Linden Sons Sewer and Water, Inc.		Martam Construction		Performance Construction & Engineering, LLC		Scanlon Excavating & Concrete Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	Select Granular Trench Backfill	26	CY	\$60.00	\$1,560.00	\$52.00	\$1,352.00	\$76.00	\$1,976.00	\$30.00	\$780.00	\$65.00	\$1,690.00
X	2	Unsuitable Soil Removal and Replacement	10	CY	\$100.00	\$1,000.00	\$1.00	\$10.00	\$144.00	\$1,440.00	\$30.00	\$300.00	\$75.00	\$750.00
X	3	Exploration Trench, 6 Ft	10	LF	\$200.00	\$2,000.00	\$1.00	\$10.00	\$116.00	\$1,160.00	\$50.00	\$500.00	\$25.00	\$250.00
X	4	Restrained Joint Gasket, 8"	5	EA	\$300.00	\$1,500.00	\$200.00	\$1,000.00	\$380.00	\$1,900.00	\$200.00	\$1,000.00	\$200.00	\$1,000.00
X	5	Zinc Coated DIP WM, Cl 52, 8" w/V-bio Polywrap	308	LF	\$150.00	\$46,200.00	\$210.00	\$64,680.00	\$196.00	\$60,368.00	\$175.00	\$53,900.00	\$170.00	\$52,360.00
X	6	Zinc Coated DIP WM, Cl 52, 8" w/V-bio Polywrap (Remove Ex. 8" Main, Install New Main in Place)	185	LF	\$170.00	\$31,450.00	\$300.00	\$55,500.00	\$233.00	\$43,105.00	\$180.00	\$33,300.00	\$200.00	\$37,000.00
X	7	8" MJ Gate Valve in 48" Vault	2	EA	\$6,000.00	\$12,000.00	\$7,800.00	\$15,600.00	\$8,890.00	\$17,780.00	\$7,500.00	\$15,000.00	\$6,000.00	\$12,000.00

EVALUATION TABULATION

undefined - Fox Valley Center Drive Water Main Replacement

EVALUATION TABULATION

GEN No. 25-154

Fox Valley Center Drive Water Main Replacement

Table 1					Fox Excavating Inc		H. Linden Sons Sewer and Water, Inc.		Martam Construction		Performance Construction & Engineering, LLC		Scanlon Excavating & Concrete Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	8	Additional Fittings	150	LB	\$8.00	\$1,200.00	\$1.00	\$150.00	\$10.00	\$1,500.00	\$1.00	\$150.00	\$1.00	\$150.00
X	9	Valve Box to be Abandoned	2	EA	\$500.00	\$1,000.00	\$50.00	\$100.00	\$520.00	\$1,040.00	\$200.00	\$400.00	\$350.00	\$700.00
X	10	Fire Hydrant Assembly	2	EA	\$9,000.00	\$18,000.00	\$10,000.00	\$20,000.00	\$12,260.00	\$24,520.00	\$10,500.00	\$21,000.00	\$8,000.00	\$16,000.00
X	11	Fire Hydrant Assembly Removal	2	EA	\$1,000.00	\$2,000.00	\$750.00	\$1,500.00	\$1,220.00	\$2,440.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
X	12	Connect to Existing 8" WM	2	EA	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00	\$4,420.00	\$8,840.00	\$5,500.00	\$11,000.00	\$4,000.00	\$8,000.00
X	13	Water Main Lowering, 8" DIP CL 52	15	LF	\$350.00	\$5,250.00	\$260.00	\$3,900.00	\$388.00	\$5,820.00	\$200.00	\$3,000.00	\$200.00	\$3,000.00
X	14	1" Dia. Tap and Corp Stop	1	EA	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$3,260.00	\$3,260.00	\$3,200.00	\$3,200.00	\$1,800.00	\$1,800.00
X	15	2" Dia. Tap and Corp Stop	1	EA	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$6,820.00	\$6,820.00	\$4,500.00	\$4,500.00	\$3,200.00	\$3,200.00
X	16	1" Dia. Curb Stop & B-box	1	EA	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$1,680.00	\$1,680.00	\$3,000.00	\$3,000.00	\$500.00	\$500.00
X	17	2" Dia. Curb Stop & B-box	1	EA	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$3,320.00	\$3,320.00	\$4,000.00	\$4,000.00	\$750.00	\$750.00

EVALUATION TABULATION

undefined - Fox Valley Center Drive Water Main Replacement

EVALUATION TABULATION

GEN No. 25-154

Fox Valley Center Drive Water Main Replacement

Table 1					Fox Excavating Inc		H. Linden Sons Sewer and Water, Inc.		Martam Construction		Performance Construction & Engineering, LLC		Scanlon Excavating & Concrete Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	18	Copper Water Service, 1"	10	LF	\$50.00	\$500.00	\$50.00	\$500.00	\$126.00	\$1,260.00	\$15.00	\$150.00	\$75.00	\$750.00
X	19	Copper Water Service, 2"	10	LF	\$50.00	\$500.00	\$100.00	\$1,000.00	\$189.00	\$1,890.00	\$30.00	\$300.00	\$100.00	\$1,000.00
X	20	HMA Drive Approach Removal & Replacement, 4", Commercial	65	SY	\$75.00	\$4,875.00	\$150.00	\$9,750.00	\$102.00	\$6,630.00	\$70.00	\$4,550.00	\$150.00	\$9,750.00
X	21	Combination PCC Curb and Gutter Removal and Replacement	20	LF	\$150.00	\$3,000.00	\$90.00	\$1,800.00	\$98.00	\$1,960.00	\$91.00	\$1,820.00	\$175.00	\$3,500.00
X	22	Seeding - Aurora Mix	1400	SY	\$6.00	\$8,400.00	\$20.00	\$28,000.00	\$12.00	\$16,800.00	\$18.00	\$25,200.00	\$15.00	\$21,000.00
X	23	Traffic Control and Protection	1	LS	\$27,000.00	\$27,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$28,037.00	\$28,037.00	\$42,500.00	\$42,500.00
X	24	Inlet Protection	5	EA	\$200.00	\$1,000.00	\$180.00	\$900.00	\$330.00	\$1,650.00	\$250.00	\$1,250.00	\$50.00	\$250.00
X	25	Dewatering Bag	1	EA	\$200.00	\$200.00	\$10.00	\$10.00	\$880.00	\$880.00	\$300.00	\$300.00	\$100.00	\$100.00

EVALUATION TABULATION

GEN No. 25-154

Fox Valley Center Drive Water Main Replacement

Table 1					Fox Excavating Inc		H. Linden Sons Sewer and Water, Inc.		Martam Construction		Performance Construction & Engineering, LLC		Scanlon Excavating & Concrete Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	26	Temporary Staging	25	CY	\$100.00	\$2,500.00	\$10.00	\$250.00	\$62.00	\$1,550.00	\$30.00	\$750.00	\$10.00	\$250.00
X	27	Non-Special Waste Disposal	25	TON	\$50.00	\$1,250.00	\$51.00	\$1,275.00	\$88.00	\$2,200.00	\$30.00	\$750.00	\$75.00	\$1,875.00
X	28	Special Waste Disposal	25	TON	\$50.00	\$1,250.00	\$51.00	\$1,275.00	\$88.00	\$2,200.00	\$30.00	\$750.00	\$75.00	\$1,875.00
Total						\$184,835.00		\$278,062.00		\$248,989.00		\$219,887.00		\$224,000.00

TABLE 1 (Table 2 of 2)

Table 1					Superior Excavating Co.		Winner Excavating, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	1	Select Granular Trench Backfill	26	CY	\$50.00	\$1,300.00	\$100.00	\$2,600.00
X	2	Unsuitable Soil Removal and Replacement	10	CY	\$67.00	\$670.00	\$60.00	\$600.00
X	3	Exploration Trench, 6 Ft	10	LF	\$135.00	\$1,350.00	\$150.00	\$1,500.00
X	4	Restrained Joint Gasket, 8"	5	EA	\$200.00	\$1,000.00	\$200.00	\$1,000.00
X	5	Zinc Coated DIP WM, CI 52, 8" w/V-bio Polywrap	308	LF	\$149.00	\$45,892.00	\$175.00	\$53,900.00
X	6	Zinc Coated DIP WM, CI 52, 8" w/V-bio Polywrap (Remove Ex. 8" Main, Install New Main in Place)	185	LF	\$149.00	\$27,565.00	\$190.00	\$35,150.00

EVALUATION TABULATION

undefined - Fox Valley Center Drive Water Main Replacement

EVALUATION TABULATION

GEN No. 25-154

Fox Valley Center Drive Water Main Replacement

Table 1					Superior Excavating Co.		Winniger Excavating, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	7	8" MJ Gate Valve in 48" Vault	2	EA	\$6,420.00	\$12,840.00	\$9,500.00	\$19,000.00
X	8	Additional Fittings	150	LB	\$16.00	\$2,400.00	\$20.00	\$3,000.00
X	9	Valve Box to be Abandoned	2	EA	\$451.00	\$902.00	\$200.00	\$400.00
X	10	Fire Hydrant Assembly	2	EA	\$11,312.00	\$22,624.00	\$12,000.00	\$24,000.00
X	11	Fire Hydrant Assembly Removal	2	EA	\$500.00	\$1,000.00	\$750.00	\$1,500.00
X	12	Connect to Existing 8" WM	2	EA	\$2,250.00	\$4,500.00	\$4,000.00	\$8,000.00
X	13	Water Main Lowering, 8" DIP CL 52	15	LF	\$450.00	\$6,750.00	\$350.00	\$5,250.00
X	14	1" Dia. Tap and Corp Stop	1	EA	\$1,450.00	\$1,450.00	\$2,700.00	\$2,700.00
X	15	2" Dia. Tap and Corp Stop	1	EA	\$2,200.00	\$2,200.00	\$3,800.00	\$3,800.00
X	16	1" Dia. Curb Stop & B-box	1	EA	\$1,660.00	\$1,660.00	\$1,100.00	\$1,100.00
X	17	2" Dia. Curb Stop & B-box	1	EA	\$2,300.00	\$2,300.00	\$1,600.00	\$1,600.00
X	18	Copper Water Service, 1"	10	LF	\$83.00	\$830.00	\$100.00	\$1,000.00
X	19	Copper Water Service, 2"	10	LF	\$105.00	\$1,050.00	\$300.00	\$3,000.00
X	20	HMA Drive Approach Removal & Replacement, 4", Commercial	65	SY	\$86.00	\$5,590.00	\$70.00	\$4,550.00
X	21	Combination PCC Curb and Gutter Removal and Replacement	20	LF	\$120.00	\$2,400.00	\$95.00	\$1,900.00

EVALUATION TABULATION

undefined - Fox Valley Center Drive Water Main Replacement

EVALUATION TABULATION  
 GEN No. 25-154  
 Fox Valley Center Drive Water Main Replacement

Table 1					Superior Excavating Co.		Winniger Excavating, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	22	Seeding - Aurora Mix	1400	SY	\$16.00	\$22,400.00	\$10.00	\$14,000.00
X	23	Traffic Control and Protection	1	LS	\$17,500.00	\$17,500.00	\$16,100.00	\$16,100.00
X	24	Inlet Protection	5	EA	\$200.00	\$1,000.00	\$250.00	\$1,250.00
X	25	Dewatering Bag	1	EA	\$133.00	\$133.00	\$500.00	\$500.00
X	26	Temporary Staging	25	CY	\$10.00	\$250.00	\$10.00	\$250.00
X	27	Non-Special Waste Disposal	25	TON	\$60.00	\$1,500.00	\$45.00	\$1,125.00
X	28	Special Waste Disposal	25	TON	\$60.00	\$1,500.00	\$45.00	\$1,125.00
Total						\$190,556.00		\$209,900.00

TABLE 2 (Table 1 of 2)

Table 2					Fox Excavating Inc		H. Linden Sons Sewer and Water, Inc.		Martam Construction		Performance Construction & Engineering, LLC		Scanlon Excavating & Concrete Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	29	Items Ordered by Engineer	1	Allowance	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
Total						\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00

TABLE 2 (Table 2 of 2)

EVALUATION TABULATION

GEN No. 25-154

Fox Valley Center Drive Water Main Replacement

---

Table 2					Superior Excavating Co.		Winner Excavating, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	29	Items Ordered by Engineer	1	Allowance	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
Total							\$25,000.00	\$25,000.00